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A= ZAgERL g eral
M QAN HRHE
SOl MAE SEAAMAY =Y CEREY
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
303 L&t 3 3,000 3,000 0
01 243 3,000 3,000 0
OHE0ot 2 X A&z 3,000,000& * 14 3,000
A2 WRSH 7,730 22,680 A 14,950
403 XSS A0l & 7,730 22,680 A 14,950
02 3|2 0l CHShCH 2 At & HI 7,730 22,680 214,950
OF-e AIAEH 24H 7,730,000& * 14! 7,730
SEXN0 HRAF 2F 267,800 268,200 A 400
LAEFHAR N 248,600 252,600 A 4,000
201 Let24E] 148,600 152,600 A 4,000
01 At 22l 148,600 152,600 A 4,000
Oget=&H| 148,600
oAasZTUE 5,000,000& * 24A 120,000
cNEHS A =2 200,000& * 2% = 123 4,800
oABORXN 2 SE=  1,000,000& * 102 10,000
ocZHNEHEZES 7,000,000& * 14 7,000
ocEHAIAS =B 6,800,000& * 14 6,800
305 HHal=s 100,000 100,000 0
01 Hia=s 100,000 100,000 0
Oxstia=3 100,000,000 * 14 100,000
HEAMHUA HB 15,600 12,000 3,600
201 L2l 15,600 12,000 3,600
01 At 22l 15,600 12,000 3,600
Oget=&H| 15,600
oM TUHIAAE HMZ  2,100,000& * 4= 7| 8,400
ocHIERE I=52 300,000& = 123 3,600
X AMYHHAFZE MHIA 300,000& = 123 3,600
SSHAHIRAZI2H 2L | 3,600 3,600 0
202 O4dl 3,600 3,600 0
01 = LH 4 Hi 3,600 3,600 0
Oxsd™ 20,000& = 3H = 603l 3,600
#F2HAH (AAgg24) 23,172 24,812 A 1,640
Jl234l 23,172 24,812 A 1,640
Jl23l 23,172 24,812 A 1,640
201 ¢er24] 12,012 12,012 0
01 At 22l 12,012 12,012 0
O e8| 8,400
cHF AR ESHI 200,000& = 123 2,400
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